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1 Simplify 4(x + 2y) — 3x — 8y).

ADSWEL: ..ot (2]
2 Evaluate 2’;"'§ ;
L (2]

3 A straight line passing through A(3, 2) and B(S, y) has gradient —2. Find the value of y.
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4 Factorise completely 55 — 5. E"“;’;’;’” !
P 3114 T S R— . T [2]
5 Use set notation to describe the shaded region in the Venn diagram below.
.5 R0 R [2]
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5 -1} 1
6 Given that C = ( 1 } and D = ( : 2} , express CD as a single matrix.

028

BISWETY oot

2]

7 The first three terms in an arithmetic progression are 5, 7 and 9. Find the

(a) common difference,

(b)  sum of the first 12 terms.
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(a) Inagame,the prdbability'of a player losing is 0.3. ‘What is the probability of a
player winning the game? ' '
(b)  The coordinates of B and C are (2, 5) and (4, —3) respectively. If M is the mid-point
of BC, what is the position vector of M?
BN ] e [1]
| T m— [2]
(a) GiventhatE={1,2,3,4,5,6,7,8},A={1,2,3,4}and B+ {2, 3, 4, 5, 6},
list (AUB)'. :
(b)  The scale of amap is 1 : 20 000. The actual area of residential plots is 60km®.
Calculate the area of residential plots on the map in square centimetres.
ADIREE () etttk L1
[} [2]
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10 (a)  The difference in longitude between town A and town B is 105°. B iswestof A. A
* family at A was watching a football match at 16 00 hours. At what time dida
family at B watch the same match?
(b)  The distance between P and Q is 3 600nm. If an aeroplane flies from P to Q at 600
knots, how long will it take?
Answer: (@) ... R (1]
[ QT — [2]
1 3 4
11 (a) The transpose of amatrix Pis | 2 5 1} Write down the matrix P,
3 01
(b)  Solve the equation 27~ '= 167,
T s, s ) TR ———————— [1]
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12 (a) The diagram below shows a sector- AOB of a circle with centre O and radius 7cm.

The area of the sector is 25% cm?. [n= 2;-]
,\
Tc
0O
Tom
B
FAS
Calculate AOB.

(b)  Ngiwezi invested K14 500.00 in a business firm. The condition was that if she left
her shares in the firm for 12 months, a profit of 5% would be added to her shares.
How much will she get at the end of 12 months?

Answer: (a)
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13 The diagram below shows a circle with a tangent RWS, The points V, W, X and Y are on
AN AN A
the circle such that XYW = 44°, VWY = 54° and SWV = 39°.

Calculate
A\
(a) RWX,
A
(b) XVW,
A
(c) YXW.

44°

W
540
\%
Y
Answer:

(@
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(a)

(b)

The ratio of the heights of two containers that are geometrically similar is 2:3. If the
surface area of the smaller container is 80cm?, find the surface area of the larger

container.

In the diagram below, triangle ABC is mapped onto triangle STU by a combined

Page 9 of 16

transformation.

I

=

1

=+
ams ) 5 ?
=)
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»
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oF

Name the two transformations that map triangle ABC onto triangle STU.

Answer:

@

--------------------------------------------
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15 Two variables x and y have corresponding values as shown in the table below. use

X 2 3 a

y 20 40 104

Given that y varies directly as (x* + 1), find the
(a) constant of variation, k,
(b)  equation connecting y and x,

(c) values of a.

AAPWEE 1) s g [1]
ey [1]
" ) St T TSR 2]

16  Given that f{x) = 8x and g(x) = 3»’9&13 , find

@ 7w,
(b) an expression for fg(x),

(c) the value of x for which fg(x) = 20.

L D) s [11
(D) e (2]
(€) X ™ et 1]
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In the diagram below, a cyclist starts from town W and cycles on a bearing of 216° to
town P. She then leaves town P and cycles on a bearing of 296° to Z. Z is west of W.

Page 11 0rf 16

N

Calculate
A
(a) PWZ,
A
(b) WPZ.

Answer;
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18 (a)  The diagram below shows a regular hexagonal prism.

State the number of planes of symmetry.

(b) A piece of timber measures 5.25cm long. Calculate the relative error of the
measurement.

ARSWEr:  (8) i 2]
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19 (a) Integrate 3x* — 4x with respect to x.

(b) Solve the equation (2x — 1)2 =25,

ABSWEF:  {@)  .corcrvsmrmsrmaminitisismsisissesain 2]
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@)
(b)

Page 13 of 16
Find the equation of a line which is parallel to 2x + y = 3 passing through (-2, 3).

The diagram in the answer space below is an incomplete flow chart to calculate
cos X for the triangle shown below.

Y

Compléte the flow chart below by writing the appropriate statements in the blank
symbols.

ADSWET: (B) .0vcvieirniersessresesinsnesssssrssssnssens [2]

@ b )
e /

N

/ Output cos X /

( End ) [2]
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21 In the diagram below, R is the unshaded region.

7 4
1t
N1/ vy
. =
=
B
N[L e
=
A%
NAEA
- 7
<] V.
B s AW
= 7
P
av
1
' N
b b N/
1
[~ Fil
Pain ~ £
P | ¥y
dEPdAR=2 AW,
e . b
= A X /]
3 = WEd i
] - A ]
- X A A
exf I~ AN
= + il
e " 1A = L
E 7| X
+1 3 ¥ 3 4 L]
| 11

Write three inequalities which describe the region R.

AAREHE @ e
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(@

(b)
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Given a right angled triangle XYZ where £Z is 90° and sin X = % find the value

of cos X.

The diagram below shows a sketch of a graph which meets the x-axis at —4 and 2.

y
A
ot / > x
-8 -6 4 6 8
Find the
@) equation of the graph,
(ii)  coordinates of the turning point.
B o R QR EoRl R — [2]
13 T () —————————— [2]
()| S —_—— 2]

Mathematics/4024/1/2018 [Turn over

For
Examiner’s
use



Page 16 of 16 , For

Examiner's
23 The diagram below shows the speed-time graph of a particle. The particle started off from | wse
rest and accelerated uniformly for 10 seconds. It then travelled at a constant speed for 20
seconds and then decelerated to rest.
Speed
(m/s)
bl e e : ;
; 5 |
i 30 ' time (sec)
(a) Find the speed V the particle reached if its acceleration was 2m/ s* in the first 10
seconds.
(b)  Given that the total distance covered was 750m, find the value of 7 in the diagram.
() What was the speed at 40 seconds?
§
ATEWEr:  HA)  csanmicosamiisimsesisis s [2]
1) R ————— [2]
Wil 1 (2]
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